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Group 8:00

Does

lim
x→0
y→0

x4 + y4 − 2x2y2

x+ y
.

exist? If so calculate it.

x4 + y4 − 2x2y2

x+ y
=
(x2 − y2)2

x+ y
=
(x+ y)2(x− y)2

x+ y
= (x+ y)(x− y)2.

So if xn, yn → 0 are such that xn + yn 6= 0, to

x4n + y
4
n − 2x2ny2n
xn + yn

= (xn + yn)(xn − yn)2 → 0.

Group 8:00

Does

lim
x→0
y→0

x4 + y4 − 2x2y2

x− y
.

exist? If so calculate it.

x4 + y4 − 2x2y2

x− y
=
(x2 − y2)2

x− y
=
(x+ y)2(x− y)2

x− y
= (x− y)(x+ y)2.

So it xn, yn → 0 are such that xn + yn 6= 0, to

x4n + y
4
n − 2x2ny2n
xn − yn

= (xn − yn)(xn + yn)2 → 0.
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